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Syllabus objective
and learning outcomes

CERTIFICATE IN ACCOUNTING AND FINANCE

FINANCIAL ACCOUNTING AND REPORTING I

Objective

To provide candidates with an understanding of the fundamentals of accounting theory and
basic financial accounting with particular reference to international pronouncements.

Learning Outcomes

On the successful completion of this paper candidates will be able to:

1 prepare financial statements in accordance with specified international
pronouncements.

2 account for simple transactions related to inventories and property, plant and
equipment in accordance with international pronouncements.

3 understand the nature of revenue and be able to account for the same in
accordance with international pronouncements.

4 prepare financial statements in accordance with specified international
pronouncements.

5 understand the fundamentals of accounting for the cost of production.
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Grid Weighting

Preparation of components of financial statements 18-22
Income and expenditure account and preparallon of accounts from 15-20
incomplete records

Accounting for inventories; and property, plant and equipment 25-35
Revenue accounting 12-18
Branch accounts 8-12
Introduction to cost of production 8-12

Total 100

Contents

Learning Outcomes

Preparation of components
of financial statements with
adjustments included in the
syllabus

Preparation of statement of
financial position (IAS 1)

LO1.1.1: Prepare simple statement of financial
position in accordance with the guidance in
IAS 1 from data and information provided

Preparation of statement of
comprehensive income (IAS 1)

LO1.2.1: Prepare simple statement of
comprehensive income in accordance with the
guidance in IAS 1 from data and information
provided

Preparation of statement of
cash flows (IAS 7)

LO 1.3.1: Demonstrate through understanding
of cash and cash equivalents, operating,
investing and financing activities

LO 1.3.2: Calculate changes in working capital
to be included in the operating activities

LO1.3.3: Compute items which are presented
on the statement of cash flows

LO1.3.4: Prepare a statement of cash flows of
an entity in accordance with 1AS 7 using direct
and indirect method.

Income and expenditure
account

LO1.4.1: Prepare simple income and
expenditure account using data and
information provided
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Contents

Learning Outcomes

Preparation of accounts from
incomplete records

LO1.5.1: Understand situations that might
necessitate the preparation of accounts from
incomplete records (stock or assets destroyed,
cash misappropriation or lost, accounting
record destroyed etc.)

LO1.5.2: Understand and apply the following
techniques used in incomplete record
situations:

e Use of the accounting equation

e Use of opening and closing balances of
ledger accounts.

e Use of a cash and / or bank summary

Use of markup on cost and gross and net profit
percentage

Accounting for inventories
(IAS 2); and property, plant
and equipment (IAS-16)

Application of cost formulas
(FIFO/ weighted average cost)
on perpetual and periodic
inventory system

LO2.1.1: Understand and analyze the
difference between perpetual and periodic
inventory systems

LO2.1.2: Understand and analyze the
difference between FIFO and weighted
average cost formulas and use them to
estimate the cost of inventory

LO2.1.3: Account for the application of cost
formulas (FIFO/ weighted average cost) on
perpetual and periodic inventory system

LO2.1.4: Identify the impact of inventory
valuation methods on profit.

Cost of inventories (cost of
purchase, cost of conversions,
other costs)

LO2.2.1: Calculate cost of inventory in
accordance with IAS-2 using data provided
including cost of purchase, cost of
conversions, and other costs

LO2.2.2: Identify relevant and irrelevant cost
from data provided.
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Contents

Learning Outcomes

Measurement of inventories
(lower of cost or net realizable
value)

LO2.3.1: Describe net realizable value (NRV)

LO2.3.2: Explain the situation when the cost of
inventories may not be recoverable

LO2.3.3: Demonstrate the steps in measuring
inventory at lower of cost or NRV

LO2.3.4: Post journal entries for adjustments
in carrying value (excluding reversal of write
downs).

Presentation of inventories in
financial statements

LO2.4.1: Understand the disclosure
requirements and prepare extracts of
necessary disclosures (excluding pledged
inventories and reversal of write downs).

Initial and subsequent
measurement of property, plant
& equipment (components of
cost, exchange of assets)

LO2.5.1: Calculate the cost on initial
recognition of property, plant and equipment in
accordance with 1AS-16 including different
elements of cost and the measurement of cost

LO2.5.2: Analyse subsequent expenditure that
may be capitalised, distinguishing between
capital and revenue items.

IAS 2 and IAS-16 (continued)

Measurement after recognition
of property, plant and
equipment

LO2.6.1: Present property, plant and
equipment after recognition under cost model
and revaluation model using data and
information provided.

Depreciation - depreciable
amount, depreciation period
and depreciation method

LO2.7.1: Define depreciation, depreciable
amount and depreciation period

LO2.7.2: Calculate depreciation according to
the following methods

e straight-line,
e diminishing balance
e the units of production

LO2.7.3: Compute depreciation for assets
carried under the cost and revaluation models
using information provided including
impairment
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Contents

Learning Outcomes

LO2.7.4: Prepare journal entries and ledger
accounts.

De-recognition

LO2.8.1: Account for derecognition of property,
plant and equipment recognised earlier under
cost and revaluation methods

LO2.8.2: Post journal entries to account for de-
recognition using data provided.

Revenue accounting

Revenue (IAS-18)

LO3.1.1: Describe revenue

LO3.1.2: Apply the principle of substance over
form to the recognition of revenue

LO3.1.3: Describe and demonstrate the
accounting treatment (measurement and
recognition) for revenue arising from the
following transactions and events:

e sale of goods;

e rendering of services

e use by others of entity assets yielding
interest, royalties and dividends.

Branch accounts

Branch accounts (excluding
foreign branches)

LO4.1.1: Describe the special features of
branch accounting including differences to
routine accounting

LO4.1.2: Understand and apply the treatment
of branch inventory, branch mark-up, goods
sent to branch and branch debtors; in the
books of head office

LOA4.1.3: Prepare trading/income statement of
branch.

Introduction to cost of
production

Meaning and scope of cost
accounting

LO5.1.1: Explain the scope of cost accounting
and managerial accounting and compare them
with financial accounting.
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Contents

Learning Outcomes

Analysis of fixed, variable and
semi variable expenses

LO5.2.1: Explain using examples the nature
and behaviour of costs

LO5.2.2: Explain using examples fixed,
variable, and semi variable costs.

Direct and indirect cost

LO5.3.1: Identify and apply the concept of
direct and indirect costs in given scenarios.

Cost estimation using high-low
points method and linear
regression analysis

LO5.4.1: Apply high-low points’ method in cost
estimation techniques.

LO5.4.2: Apply regression analysis for cost
estimation.

Product cost and period cost

LO5.5.1: Compare and comment product cost
and period cost in given scenarios.
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IAS 2: Inventories

1 Inventory

2 Measurement of inventory

3 FIFO and weighted average cost methods
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INTRODUCTION

Learning outcomes

To provide candidates with an understanding of the fundamentals of accounting theory and
basic financial accounting with particular reference to international pronouncements.

LO 2

LO2.1.1:

LO2.1.2:

LO2.1.3:

LO2.1.4:

LO2.2.1:

LO2.2.2:

LO2.3.1:

LO2.3.2:

LO2.3.3:

LO2.3.4:

LO224.1:

Account for simple transactions related to inventories and property,
plant and equipment in accordance with international pronouncements.

Cost formulas: Understand and analyse the difference between perpetual and
periodic inventory systems.

Cost formulas: Understand and analyse the difference between FIFO and
weighted average cost formulas and use them to estimate the cost of
inventory).

Cost formulas: Account for the application of cost formulas (FIFO/ weighted
average cost) on perpetual and periodic inventory system

Cost formulas: Identify the impact of inventory valuation methods on profit.
Cost of inventories: Calculate cost of inventory in accordance with 1AS-2 using
data provided including cost of purchase, cost of conversions, and other
Ccosts.

Cost of inventories: Identify relevant and irrelevant cost from data provided.

Measurement of inventories: Describe net realizable value (NRV)

Measurement of inventories: Explain the situation when the cost of inventories
may not be recoverable.

Measurement of inventories: Demonstrate the steps in measuring inventory at
lower of cost or NRV.

Measurement of inventories: Post journal entries for adjustments in carrying
value (excluding reversal of write downs)

Presentation of inventories: Understand the disclosure requirements and
prepare extracts of necessary disclosures (excluding pledged inventories and
reversal of write downs).

© Emile Woolf International 2 The Institute of Chartered Accountants of Pakistan



Chapter 1: IAS 2: Inventories

1 INVENTORY

Section overview

Definition of inventory

Periodic inventory system (period end system) — summary
Perpetual inventory method

Summary of journal entries under each method

Inventory counts (stock takes)

Disclosure requirements for inventory

1.1 Definition of inventory
The nature of inventories varies with the type of business. Inventories are:

O  Assets held for sale. For a retailer, these are items that the business sells —
its stock-in trade. For a manufacturer, assets held for sale are usually
referred to as ‘finished goods’

O  Assets in the process of production for sale (‘work-in-progress’ for a
manufacturer)

O  Assets in the form of materials or supplies to be used in the production
process (‘raw materials’ in the case of a manufacturer).

IAS 2: Inventories sets out the requirements to be followed when accounting for
inventory.
Recording inventory

In order to prepare a statement of comprehensive income it is necessary to be
able to calculate gross profit. This requires the calculation of a cost of sales
figure.

There are two main methods of recording inventory so as to allow the calculation
of cost of sales.

O  Periodic inventory system (period end system)
O  Perpetual inventory system

Each method uses a ledger account for inventory but these have different roles.

1.2 Periodic inventory system (period end system) - summary

Opening inventory in the trial balance (a debit balance) and purchases (a debit
balance) are both transferred to cost of sales.

This clears both accounts.

Closing inventory is recognised in the inventory account as an asset (a debit
balance) and the other side of the entry is a credit to cost of sales.

Cost of sales comprises purchase in the period adjusted for movements in
inventory level from the start to the end of the period.

© Emile Woolf International 3 The Institute of Chartered Accountants of Pakistan
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lllustration: Cost of sales
Q)
h Year1 Year2

Rs. Rs.

Opening inventory (a debit) - X

Purchases (a debit) X /‘ X

X X

Closing inventory (a credit) X) X)

Cost of sales X X

Any loss of inventory is automatically dealt with and does not require a special
accounting treatment. Lost inventory is simply not included in closing inventory
and thus is written off to cost of sales. There might be a need to disclose a loss
as a material item of an unusual nature either on the face of the incomes
statement or in the notes to the accounts if it arose in unusual circumstances

1.3 Perpetual inventory method

This is a system where inventory records are continuously updated so that
inventory values are always available.

A single account is used to record all inventory movements. The account is used
to record purchases in the period and inventory is brought down on the account
at each year-end. The account is also used to record all issues out of inventory.
These issues constitute the cost of sales.

When the perpetual inventory method is used, a record is kept of all receipts of
items into inventory (at cost) and all issues of inventory to cost of sales.

Each issue of inventory is given a cost, and the cost of the items issued is either
the actual cost of the inventory (if it is practicable to establish the actual cost) or a
cost obtained using a valuation method.

Each receipt and issue of inventory is recorded in the inventory account. This
means that a purchases account becomes unnecessary, because all purchases
are recorded in the inventory account.

All transactions involving the receipt or issue of inventory must be recorded, and
at any time, the balance on the inventory account should be the value of
inventory currently held.

© Emile Woolf International 4 The Institute of Chartered Accountants of Pakistan
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Example:
Q Faisalabad Trading had opening inventory of Rs. 10,000.
Purchases during the year were Rs. 30,000.
During the year inventory at a cost of Rs. 28,000 was transferred to cost of sales.
Closing inventory at the end of Year 2 was Rs. 12,000.

The following entries are necessary during the period.

Inventory account
Rs. Rs.
Balance b/d 10,000 | Cost of sales 28,000
Cash or creditors
(purchases in the year) 30,000
Closing balance c/d 12,000
40,000 40,000
Opening balance b/d 12,000

Furthermore, all transactions involving any kind of adjustment to the cost of
inventory must be recorded in the inventory account.

Example:
Q Gujrat Retail (GR) had opening inventory of Rs. 100,000.

Purchases during the year were Rs. 500,000. Inventory with a cost of Rs. 18,000
was returned to a supplier. One of the purchases in the above amount was subject
to an express delivery fee which cost the company an extra Rs. 15,000 in addition
to the above amount.

GR sold goods during the year which had cost Rs. 520,000. Goods which had cost
Rs. 20,000 were returned to the company.

Just before the year end goods which had cost Rs. 5,000 were found to have been
damaged whilst being handled by GR’s staff.

The following entries are necessary during the period.

Inventory account
Rs. Rs.
Balance b/d 100,000
Cash or creditors Returns to supplier 18,000
(purchases in the year) 500,000
Special freight charge 15,000
Returns from customers 20,000 | Cost of goods sold 500,000
Normal loss 5,000
Closing balance c/d 112,000
635,000 635,000
Opening balance b/d 112,000
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Inventory cards

The receipts and issues of inventory are normally recorded on an inventory
ledger card (bin card). In modern systems the card might be a computer record.

Example: Inventory ledger card
Q On 1 January a company had an opening inventory of 100 units.
During the month it made the following purchases:
5 April: 300 units

14 July: 500 units
22 October: 200 units

During the period it sold 800 units as follows:
9 May: 200 units
25 July: 200 units
23 November: 200 units
12 December: 200 units

Each of these can be shown on an inventory ledger card as follows:

Receipts Issues Balance

(units) (units) (units)

Date Units Units Units
1 January b/f 100 100
5 April (purchase) 300 300
400

9 May (issue) 200 (200)
200

14 July (purchase) 500 500
700

25 July (issue) 200 (200)
500

22 Oct (purchase) 200 200
700

23 November (issue) 200 (200)
500

12 December (issue) 200 (200)
1,100 800 300

Inventory ledger cards also usually record cost information. This is covered in
section 3 of this chapter.

© Emile Woolf International 6 The Institute of Chartered Accountants of Pakistan
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1.4 Summary of journal entries under each system

Opening inventory

Periodic inventory

method

Closing inventory as
measured and
recognised brought
forward from last period

Perpetual inventory
method

Closing balance on the
inventory account as at
the end of the previous
period

Purchase of inventory

Dr Purchases
Cr Payables/cash

Dr Inventory
Cr Payables/cash

Freight paid

Dr Carriage inwards
Cr Payables/cash

Dr Inventory
Cr Payables/cash

Return of inventory to
supplier

Dr Payables
Cr Purchase returns

Dr Payables
Cr Inventory

Dr Receivables
Cr Sales
and
Dr Cost of goods sold
Cr Inventory

Dr Receivables
Cr Sales

Sale of inventory

Return of goods by a Dr Sales returns Dr Sales returns

supplier Cr Receivables Cr Receivables
and
Dr Inventory
Cr Cost of goods sold
Normal loss No double entry Dr Cost of goods sold

Cr Inventory
Dr Abnormal loss
Cr Inventory

Dr Abnormal loss
Cr Purchases

Abnormal loss

Counted, valued and
recognised by:

Dr Inventory (statement
of financial position)

Cr Cost of sales (cost
of goods sold)

Closing inventory Balance on the inventory

account

1.5 Inventory counts (stock takes)

A stock take is a physical verification of the amount of inventory that a business
has.

Each item of inventory is counted and entered onto inventory sheets. The
inventory counted can then be valued.

Periodic inventory systems

Inventory counts are vital for the operation of the periodic inventory system as it
depends on the closing inventory at the end of each period being recognised in
the system of accounts.

© Emile Woolf International 7 The Institute of Chartered Accountants of Pakistan
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Perpetual inventory systems

Inventory counts are also important to the operation of perpetual inventory
systems as the identify differences between the balance on the inventory account
(the inventory that should be there) and the actual physical quantity of inventory.

The inventory account must be adjusted for any material difference.

Any difference should be investigated. Possible causes of difference between the
balance on the inventory account and the physical inventory counted include the
following.

U Theft of inventory.
O  Damage to inventory with failure to record that damage.

a Mis-posting of inventory receipts or issues (for example posting component
A as component B).

O  Failure to record a receipt.

Q Failure to record an issue.

Timing of inventory counts

Ideally the inventory count takes place on the last day of an accounting period
(the reporting date). However, this is not always possible due to the day on which
the last day of the accounting period falls or perhaps, not having enough
employees to count the inventory at all sites at the same time.

If the inventory is counted at a date that differs from the reporting date the
balance must be adjusted for transactions between the two dates.

Example: Timing of inventory counts
Q Sukkur Trading has a 31 December year end. It carried out an inventory count on

5th January 2014. The count was valued at Rs.2,800,000.

The following transactions took place between the 31 December and 5 January.
1. Sales of goods for Rs. 120,000. These goods cost Rs. 96,000.

2. Purchases of goods for Rs. 136,000.

The inventory at the reporting date is calculated as follows:

Rs.
Inventory on 5 January 2,800,000
Add back cost of inventory sold since 31 December 96,000
Deduct purchase since 31 December (136,000)
Inventory at 31 December 2,760,000

© Emile Woolf International 8 The Institute of Chartered Accountants of Pakistan
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1.6 Disclosure requirements for inventory

IAS 2 requires the following disclosures in notes to the financial statements.

Q

Q

(R

The accounting policy adopted for measuring inventories, including the cost
measurement method used.

The total carrying amount of inventories, classified appropriately. (For a
manufacturer, appropriate classifications will be raw materials, work-in-
progress and finished goods.)

The amount of inventories carried at net realisable value or NRV.

The amount of inventories written down in value, and so recognised as an
expense during the period.

Details of any circumstances that have led to the write-down of inventories
to NRV.

The amount of any reversal of any write-down that is recognized as a
reduction in the amount of inventories recognized as expense in the period.

The circumstances or events that led to the reversal of a write-down of
inventories.
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2

MEASUREMENT OF INVENTORY

Section overview

m Introduction

m  Cost of inventories

m  Net realisable value

m  Accounting for a write down

2.1 Introduction
The measurement of inventory can be extremely important for financial reporting,
because the measurements affect both the cost of sales (and profit) and also
total asset values in the statement of financial position.
There are several aspects of inventory measurement to consider:
O  Should the inventory be valued at cost, or might a different measurement
be more appropriate?
O  Which items of expense can be included in the cost of inventory?
O  What measurement method should be used when it is not practicable to
identify the actual cost of inventory?
IAS 2: gives guidance on each of these areas.
Measurement rule
IAS 2 requires that inventory must be measured in the financial statements at the
lower of:
d  cost, or
U netrealisable value (NRV).
The standard gives guidance on the meaning of each of these terms.
2.2 Cost of inventories

IAS2 states that ‘the cost of inventories shall comprise all costs of purchase,
costs of conversion and other costs incurred in bringing the inventories to their
present location and condition.

Purchase cost

The purchase cost of inventory will consist of the following:

O  the purchase price

U  plus import duties and other non-recoverable taxes (but excluding
recoverable sales tax)

O  plus transport, handling and other costs directly attributable to the purchase
(carriage inwards), if these costs are additional to the purchase price.

The purchase price excludes any settlement discounts, and is the cost after
deduction of trade discount.

© Emile Woolf International 10 The Institute of Chartered Accountants of Pakistan



Chapter 1: IAS 2: Inventories

Example: Purchase cost |
Q Kasur Consumer Electrics (KCE) buys goods from an overseas supplier.
It has recently taken delivery of 1,000 units of component X.

The quoted price of component X was Rs. 1,200 per unit but KCE has negotiated a
trade discount of 5% due to the size of the order.

The supplier offers an early settlement discount of 2% for payment within 30 days
and KCE intends to achieve this.

Import duties of Rs. 60 per unit must be paid before the goods are released
through custom.

Once the goods are released through customs KCE must pay a delivery cost of Rs.
5,000 to have the components taken to its warehouse.

Rs.
Purchase price (1,000 x Rs. 1,200 x 95%) 1,140,000
Import duties (1,000 x Rs. 60) 60,000
Delivery cost 5,000
Cost of inventory 1,205,000

The intention to take settlement discount is irrelevant.

Conversion costs

When materials purchased from suppliers are converted into another product in a
manufacturing or assembly operation, there are also conversion costs to add to
the purchase costs of the materials. Conversion costs must be included in the
cost of finished goods and unfinished work in progress.

Conversion costs consist of:

O  costs directly related to units of production, such as costs of direct labour
(i.e. the cost of the labour employed to perform the conversion work)

a fixed and variable production overheads, which must be allocated to costs
of items produced and closing inventories. (Fixed production overheads
must be allocated to costs of finished output and closing inventories on the
basis of the normal production capacity in the period)

O  other costs incurred in bringing the inventories to their present location and
condition.

You may not have studied cost and management accounting yet but you need to
be aware of some of the costs that are included in production overheads (also
known as factory overheads). Production overheads include:

U  costs of indirect labour, including the salaries of the factory manager and
factory supervisors

U depreciation costs of non-current assets used in production

U  costs of carriage inwards, if these are not included in the purchase costs of
the materials

Only production overheads are included in costs of finished goods inventories
and work-in-progress. Administrative costs and selling and distribution costs must
not be included in the cost of inventory.

© Emile Woolf International 11 The Institute of Chartered Accountants of Pakistan
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Note that the process of allocating costs to units of production is usually called
absorption. This is usually done by linking the total production overhead to some
production variable, for example, time, wages, materials or simply the number of
units expected to be made.

Example: Conversion costs
Q Kasur Consumer Electrics (KCE) manufactures control units for air conditioning
systems.
The following information is relevant:
Each control unit requires the following:

1 component X at a cost of Rs 1,205 each

1 component Y at a cost of Rs 800 each

Sundry raw materials at a cost of Rs. 150.

The company faces the following monthly expenses: Rs.
Factory rent 16,500
Energy cost 7,500
Selling and administrative costs 10,000

Each unit takes two hours to assemble. Production workers are paid Rs.
300 per hour.

Production overheads are absorbed into units of production using an
hourly rate. The normal level of production per month is 1,000 hours.

The cost of a single control unit is as follows: Rs.
Materials:
Component X 1,205
Component Y 800
Sundry raw materials 150
2,155
Labour (2 hours x Rs. 300) 600
Production overhead (Rs- 16,500+ 7,500 /4 400 hours X 2 hours 48
2,803

The selling and administrative costs are not part of the cost of inventory

© Emile Woolf International 12 The Institute of Chartered Accountants of Pakistan
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Flow of information

Production overhead is recognised in an expense account in the usual way.
Production overhead is then transferred from this account to an inventory
account (perhaps via a work-in-progress account) as units are produced.

@ lllustration: Production overhead double entry

Debit  Credit
Production overhead X
Cash/payables X
Being the recognition of production overhead expense
Inventory X
Production overhead X
Being the transfer of production overhead into inventory
Statement of profit or loss (cost of sales) X
Inventory X

Being the transfer of inventory cost to cost of sales

The flow of information can be represented by the following diagram:

@ lllustration: Production overhead double entry

Overhead absorbed using
predetermined absorption rate

I
Production : Statement of
overheads 'L Inventory profit or loss
X A 4>}(| X ——> |Costofsales X
Fat
1

Actual overhead
incurred

© Emile Woolf International 13 The Institute of Chartered Accountants of Pakistan
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Normal production capacity

Fixed production overheads must be absorbed based on normal production
capacity even if this is not achieved in a period.

Normal capacity is the production expected to be achieved on average over a
number of periods or seasons under normal circumstances. The actual level of
production may be used if it approximates normal capacity.

The amount of fixed overhead allocated to each unit of production is not
increased if actual production capacity falls short of the normal capacity for any
reason.

Similarly, the amount of fixed overhead allocated to each unit of production is not
decreased if actual production capacity is higher than the normal capacity for any
reason.

Usually, the actual fixed production overhead recognised as part of the inventory
cost differs from the actual fixed production overhead incurred. Any difference is
recognised as an expense or a reduction of an expense (usually cost of sales).

O  Under-absorption (fixed production overhead in inventory is less than fixed
production overhead incurred) is a debit to cost of sales.

U Over-absorption (fixed production overhead in inventory is greater than
fixed production overhead incurred) is a credit to cost of sales.

Q Example: Normal production capacity (under absorption)

A business plans for fixed production overheads of Rs. 1,000,000 per annum.
The normal level of production is 100,000 units per annum.

Due to supply difficulties the business was only able to make 75,000 units in the
current year.

Other costs per unit were Rs. 126.

The cost per unit is: Rs.
Other costs 126
Fixed production overhead (Rs- 1,000,000 /444 600 units) 10

Unit cost 136

Note: Rs.

The amount absorbed into inventory is (75,000 x Rs. 10) 750,000

Total fixed production overhead 1,000,000

The amount not absorbed into inventory 250,000

The Rs. 250,000 that has not been included in inventory is expensed (i.e.
recognised in the statement of comprehensive income).

© Emile Woolf International 14 The Institute of Chartered Accountants of Pakistan
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This is represented in the following diagram.

@ lllustration: Production overhead double entry

Overhead absorbed

T
1
Production | IStatement of profit or
I 0SS
overheads Inventory
1000 750 —=> 750 | 750 —— |Costofsales 750
A 250 250
| X
! 1
L 1
Actual overhead Under absorption of fixed
incurred production overhead

Dr Profit or loss
Cr Production overhead account

This may seem a little pointless at first sight. After all the cost incurred of Rs.
1,000 is the same as the cost recognised in the statement of profit or loss (Rs.
750 + Rs. 250). However, the Rs. 250 in the statement of profit or loss is
expensed. In other words, it is not part of the cost of inventory.

Example: Normal production capacity (under absorption)

Q A business plans for fixed production overheads of Rs. 1,000,000 per annum.
The normal level of production is 100,000 units per annum but due to supply
difficulties the business was only able to make 75,000 units in the current year.
Other costs per unit were Rs. 126.

The company sold 50,000 of the units leaving a closing inventory of 25,000 units
at the year-end.
The cost per unit is: Rs.
Other costs 126
Fixed production overhead (Rs- 1,000,000 /140 000 units) 10
Unit cost 136
The cost of sales would be as follows: Rs.
Production costs (75,000 x Rs. 136) 10,200,000
Under-absorption of fixed production overhead 250,000
Total production costs 10,450,000
Closing inventory (25,000 x Rs. 136) (3,400,000)
7,050,000
This is equal to: Rs.
50,000 x Rs. 136 6,800,000
Plus under-absorbed fixed production overhead 250,000
7,050,000
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O

The above example considers the situation where the fixed production incurred in
the period is more than that absorbed (under-absorption). The opposite could
also be true.

Example: Normal production capacity (over-absorption)

A business plans for fixed production overheads of Rs. 1,000,000 per annum.

The normal level of production is 100,000 units per annum.
The business made 110,000 units in the current year.
Other costs per unit were Rs. 126.

The company sold 90,000 units in the period (leaving 20,000 units in inventory at

the year-end).
The cost per unit is:
Other costs
Fixed production overhead (Rs- 1,000,000 /440 000 units)

Unit cost

Note:
The amount absorbed into inventory is (110,000 x Rs. 10)
Total fixed production overhead

The amount over absorbed into inventory

Rs.
126
10
136

Rs.
1,100,000
1,000,000

100,000

The extra Rs. 100,000 that has been included in inventory is credited to

the statement of comprehensive income.

The cost of sales would be as follows:

Rs.

Production costs (110,000 x Rs. 136)
Over-absorption of fixed production overhead

14,960,000
(100,000)

Total production costs
Closing inventory (20,000 x Rs. 136)

14,860,000
(2,720,000)

12,140,000

This is equal to:
90,000 x Rs. 136
Less over-absorbed fixed production overhead

Rs.
12,240,000
100,000

12,140,000
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2.3 Net realisable value

Definition
o)
&

Net realisable value is the estimated selling price in the ordinary course of
business less the estimated costs of completion and the estimated costs
necessary to make the sale.

Net realisable value is the amount that can be obtained from selling the inventory
in the normal course of business, less any further costs that will be incurred in
getting it ready for sale or disposal.

O  Net realisable value is usually higher than cost. Inventory is therefore
usually valued at cost.

O  However, when inventory loses value, perhaps because it has been
damaged or is now obsolete, net realisable value will be lower than cost.

The cost and net realisable value should be compared for each separately-
identifiable item of inventory, or group of similar inventories, rather than for
inventory in total.

Example:
Q A business has four items of inventory. A count of the inventory has established
that the amounts of inventory currently held, at cost, are as follows:

Rs.
Cost Sales price Selling costs
Inventory item A1 8,000 7,800 500
Inventory item A2 14,000 18,000 200
Inventory item B1 16,000 17,000 200
Inventory item C1 6,000 7,500 150

The value of closing inventory in the financial statements:

Lower of: Rs.
Al 8,000 or (7,800 - 500) 7,300
A2 14,000 or (18,000 - 200) 14,000
B1 16,000 or (17,800 - 500) 16,000
(0% 6,000 or (7,000 - 200) 6,000
Inventory measurement 43,300

Net realisable value might be lower than cost so that the cost of inventories may
not be recoverable in the following circumstances:

(| inventories are damaged;
O  inventories have become wholly or partially obsolete; or,
U selling prices have declined.
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2.4 Accounting for a write down

When the cost of an item of inventory is less than its net realisable value the cost
must be written down to that amount.

Component Al in the previous example was carried at a cost of Rs. 8,000 but its
NRV was estimated to be Rs. 7,300.The item must be written down to this
amount. How this is achieved depends on circumstance and the type of inventory
accounting system.

Perpetual inventory systems
The situation here is similar to that for inventory loss.

The inventory must be written down in the system by the following journal:

@ lllustration:
b Debit  Credit

Cost of sales X
Inventory X

Period end system / Periodic inventory system

If the necessity for the write down is discovered during an accounting period then
no special treatment is needed. The inventory is simply measured at the NRV
when it is included in the year end financial statements. This automatically
includes the write down in cost of sales.

If the problem is discovered after the financial statements have been drafted (and
before they are finalised) the closing inventory must be adjusted as follows:

@ lllustration:
& Debit  Credit

Statement of comprehensive income closing
inventory (cost of sales) X

Inventory in the statement of financial position X
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3 FIFO AND WEIGHTED AVERAGE COST METHODS

Section overview

Cost formulas

First-in, first-out method of measurement (FIFO)
Weighted average cost (AVCO) method

Profit impact

3.1 Cost formulas

With some inventory items, particularly large and expensive items, it might be
possible to recognise the actual cost of each item.

In practice, however, this is unusual because the task of identifying the actual
cost for all inventory items is impossible because of the large numbers of such
items.

A system is therefore needed for measuring the cost of inventory.

The historical cost of inventory is usually measured by one of the following
methods:

O  Firstin, first out (FIFO)
O  Weighted average cost (AVCO)

@ lllustration
b On 1 January a company had an opening inventory of 100 units which cost Rs.50
each.

During the month it made the following purchases:
5 April: 300 units at Rs. 60 each
14 July: 500 units at Rs. 70 each
22 October: 200 units at Rs. 80 each.
During the period it sold 800 units as follows:
9 May: 200 units
25 July: 200 units
23 November: 200 units
12 December: 200 units

This means that it has 300 units left (100 + 300 + 500 + 200 - (200 + 200 +
200 + 200 + 200)) but what did they cost?

FIFO and AVCO are two techniques that provide an answer to this question.

Note:

O  Firstin, first out (FIFO) tends to be used in periodic inventory systems but
may be used in perpetual inventory systems also.

U  Weighted average cost (AVCO) is easier to apply when a perpetual
inventory system is used.
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3.2 First-in, first-out method of measurement (FIFO)

With the first-in, first-out method of inventory measurement, it is assumed that
inventory is consumed in the strict order in which it was purchased or
manufactured. The first items that are received into inventory are the first items
that go out.

To establish the cost of inventory using FIFO, it is necessary to keep a record of:

U the date that units of inventory are received into inventory, the number of
units received and their purchase price (or manufacturing cost)

O  the date that units are issued from inventory and the number of units
issued.

With this information, it is possible to put a cost to the inventory that is issued
(sold or used) and to identify the cost of the items still remaining in inventory.

Since it is assumed that the first items received into inventory are the first units
that are used, it follows that the value of inventory at any time should be the cost
of the most recently-acquired units of inventory.

On 1 January a company had an opening inventory of 100 units which cost Rs.50
each.

During the month it made the following purchases:
5 April: 300 units at Rs. 60 each (= Rs. 18,000)
14 July: 500 units at Rs. 70 each (= Rs. 35,000)
22 October: 200 units at Rs. 80 each (= Rs. 16,000)

During the period it sold 800 units as follows:
9 May: 200 units
25 July: 200 units
23 November: 200 units
12 December: 200 units

The cost of each material issue from store in October and the closing inventory
using the FIFO measurement method is as follows:

Q Example: FIFO (returning to the previous example)

FIFO measures inventory as if the first inventory sold is always the first inventory
purchased.

Consider the flow of units:

Bf 5 14 22
April July October
(units) (units) (units) (units)
Purchased 100 300 500 200
Issues on:
9 May (200) (100) (100)
25 Jul (200) (200)
23 Nov (200) (200)
12 Dec (200) (200)
Closing inventory - - 100 200
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Example (continued): Measurement
Q Issues on 9 May Cost per unit Rs.
100 units in opening inventory 50 5,000
100 units purchased on 5 April 60 6,000
Cost of issue 11,000
Issues on 25 July Cost per unit
200 units purchased on 5 April 60 12,000
Cost of issue 12,000
Issues on 23 November Cost per unit
200 units purchased on 14 July 70 14,000
Cost of issue 14,000
Issues on 12 December Cost per unit
200 units purchased on 14 July 70 14,000
Cost of issue 14,000
Closing inventory Cost per unit
100 units purchased on 14 July 70 7,000
200 units purchased on 22 October 80 16,000
23,000

This looks more complicated than it needs to be. This is because the cost of each
individual issue has been calculated. However, usually we would not be
interested in the cost of individual issues so much as the overall cost of sale and
closing inventory. When this is the case the calculations become much easier.

This is because the total costs of buying the inventory are known so only the
closing inventory has to be measured. This is done assuming that it is from the
most recent purchases (because FIFO assumes that the inventory bought earlier
has been sold).

Example (continued): Measuring closing inventory only
Q Rs.
Value of opening inventory 5,000
Purchases in the period (18,000 + 35,000 + 16,000) 69,000
74,000
Value of closing inventory (31 December)
(200 purchased on 22 October @ Rs.80) 16,000
(100 purchased on 14 July @ Rs.70) 7,000
(23,000)
Cost of materials issued in October 51,000

© Emile Woolf International 21 The Institute of Chartered Accountants of Pakistan



Financial accounting and reporting |

Inventory ledger card

The purchases and issues can be recorded on an inventory ledger card as follows.

Q Example: Inventory ledger card (FIFQ)
Receipts Issues Balance
Date Qty @ Rs. Qty @ Rs. Qty @ Rs.
1Jan
b/f 100 50 5,000 100 50 5,000
5 Apr 300 60 18,000 300 60 18,000
400 50/60 23,000
9 May 100 50 5,000 | 100 50 5,000
100 60 6,000 | 100 60 6,000
200 50/60 11,000 (200) 50/60 (11,000)
200 60 12,000
14 Jul 500 70 35,000 500 70 35,000
700 60/70 47,000
25 Jul 200 60 12,000 (200) 60 12,000
500 70 35,000
22 Oct 200 80 16,000 200 80 16,000
700 70/80 51,000
23 Nov 200 70 14,000 (200) 70 (14,000)
500 70/80 37,000
12 Dec 200 70 14,000 (200) 70 (14,000)
1,100 74,000 800 51,000 300 70/80 23,000
Note: 1,100 minus 800 equals 300
74,000 minus 51,000 equals 23,000

© Emile Woolf International 22 The Institute of Chartered Accountants of Pakistan



Chapter 1: IAS 2: Inventories

3.3 Weighted average cost (AVCO) method

With the weighted average cost (AVCO) method of inventory measurement it is
assumed that all units are issued at the current weighted average cost per unit.

A new average cost is calculated whenever more items are purchased and
received into store. The weighted average cost is calculated as follows:

,_g + Formula: Calculation of new weighted average after each purchase

B 71' Cost of inventory currently in store +
Cost of new items received
Number of units currently in store +
Number of new units received

= New weighted average

Items ‘currently in store’ are the items in store immediately before the new
delivery is received.

Example: FIFO (returning to the previous example)
Q On 1 January a company had an opening inventory of 100 units which cost Rs.50
each.
During the month it made the following purchases:
5 April: 300 units at Rs. 60 each (= Rs. 18,000)
14 July: 500 units at Rs. 70 each (= Rs. 35,000)
22 October: 200 units at Rs. 80 each (= Rs. 16,000)

During the period it sold 800 units as follows:
9 May: 200 units
25 July: 200 units
23 November: 200 units
12 December: 200 units

Required

(@) What was the cost of the material issued from store in the year, using the
weighted average cost (AVCO) measurement method?

(b) What was the value of the closing inventory on 31 December?
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The weighted average method calculates a new average cost per unit after each
purchase. This is then used to measure the cost of all issues up until the next
purchase.

This can be shown using an inventory ledger card as follows.

Q Example: Inventory ledger card (weighted average method)

Receipts Issues Balance
Date Qty @ Rs. Qty @ Rs. Qty @ Rs.
1Jan
b/f 100 50 5,000 100 50 5,000
5 Apr 300 60 18,000 300 60 18,000
400 57.5 23,000
9 May 200 575 11,500 (200) 57.5 (11,500)
200 57.5 11,500
14 Jul 500 70 35,000 500 70 35,000
700 66.43 46,500
25 Jul 200 66.43 13,286 (200) 66.43 (13,286)
500 66.43 33,214
22 Oct 200 80 16,000 200 80 16,000
700 7031 49,214
23 Nov 200 70.31 14,062 (200) 70.31 (14,062)
500 70.31 35,152
12 Dec 200 70.31 14,062 (200) 70.31 (14,062)
1,100 74,000 800 52,910 300 70/80 21,090

Figures in bold have been calculated as an average cost at the date of a purchase.

Note: 1,100 minus 800 equals 300

74,000 minus 52,910 equals 21,090

Q Summary
Rs.

Value of opening inventory, 1 October 5,000

Purchases in the period 69,000
74,000

Value of closing inventory, 31 October (see above) (21,090)

Cost of materials issued in October

(See figures above: 11,500 + 13,286 + 14,062+ 14,062) 52,910
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3.4 Profit impact
Inventory valuation has a direct effect on profit measurement.

Under the periodic inventory system closing inventory is credited to cost of sales.
If the value of closing inventory is increased by Rs. 100 then profit would
increase by the same amount.

Under the perpetual inventory system cost of sales is comprised of the transfers
from the inventory account and the closing inventory is the balance on the
account. However, if the closing inventory balance is changed for whatever
reason (say because of a difference between the closing inventory on the
account and the actual closing inventory measured) the difference impacts cost
of sales and hence gross profit. In other words profit is affected by the value
assigned to closing inventory.

The figures derived from the cost formula examples above can be used to
demonstrate the profit impact of different inventory value.

Example: Profit impact of inventory valuation
Q The company in the previous examples has sales of Rs. 100,000 in the year.

Rs. Rs.
Sales 100,000 100,000
Cost of sales:
Opening inventory 5,000 5,000
Purchases 69,000 69,000

74,000 74,000

Closing inventory:

FIFO (23,000)

AVCO (21,090)
Cost of sales (51,000) (52,910)
Gross profit 49,000 47,810

The profit difference is entirely due to how closing inventory is measured
under each system.
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INTRODUCTION

Learning outcomes

To provide candidates with an understanding of the fundamentals of accounting theory and
basic financial accounting with particular reference to international pronouncements.

LO2 Account for simple transactions related to inventories and property,
plant and equipment in accordance with international pronouncements.

LO2.5.1: Initial measurement and subsequent measurement: Calculate the cost on
initial recognition of property, plant and equipment in accordance with IAS-16
including different elements of cost and the measurement of cost.

LO2.5.2: Initial measurement and subsequent measurement: Analyse subsequent
expenditure that may be capitalised, distinguishing between capital and
revenue items.

LO2.6.1: Measurement after recognition:Present property, plant and equipment after
recognition under cost model and revaluation model using data and
information provided.

LO2.7.1: Depreciation: Define depreciation, depreciable amount and depreciation
period.
LO2.7.2: Depreciation: Calculate depreciation according to the following methods:

straight-line; diminishing balance; and units of production.

LO2.7.3: Depreciation: Compute depreciation for assets carried under the cost and
revaluation models using information provided including impairment.

LO2.7.4: Depreciation: Prepare journal entries and ledger accounts.

LO2.8.1: De-recognition: Account for derecognition of property, plant and equipment
recognised earlier under cost and revaluation methods.

LO2.8.2: De-recognition: Post journal entries to account for de-recognition using data
provided.
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1 INITIAL MEASUREMENT OF PROPERTY, PLANT AND EQUIPMENT

Section overview

Introduction

Initial measurement

Exchange transactions

Subsequent expenditure
Components of cost

Measurement after initial recognition

11

1.2

Introduction

Rules on accounting for property, plant and equipment are contained in IAS 16
Property, plant and equipment.

Definitions
Property, plant and equipment are tangible items that:

a are held for use in the production or supply of goods or services, for rental to
others, or for administrative purposes; and

a are expected to be used during more than one period.

Initial measurement

Property, plant and equipment are initially recorded in the accounts of a business
at their cost.

Definition

Cost is the amount of cash or cash equivalents paid and the fair value of the other
consideration given to acquire an asset at the time of its acquisition or
construction.

The cost of an item of property, plant and machinery consists of:

O  its purchase price after any trade discount has been deducted, plus any
import taxes or non-refundable sales tax; plus

O  the directly attributable costs of ‘bringing the asset to the location and
condition necessary for it to be capable of operating in the manner intended
by management’ (IAS 16 Property, plant and machinery). These directly
attributable costs may include:

. employee costs arising directly from the installation or construction of
the asset

. the cost of site preparation

. delivery costs (‘carriage inwards’)
. installation and assembly costs

. testing costs

. professional fees directly attributable to the purchase.
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U  When the entity has an obligation to dismantle and remove the asset at the
end of its life, its initial cost should also include an estimate of the costs of
dismantling and removing the asset and restoring the site where it is
located.

The cost of a hon-current asset cannot include any administration costs or other
general overhead costs.

Example: Cost
Q A company has purchased a large item of plant.

The following costs were incurred.

List price of the machine 1,000,000
Trade discount given 50,000
Delivery cost 100,000
Installation cost 125,000
Cost of site preparation 200,000
Architect’s fees 15,000
Administration expense 150,000

Local government officials have granted the company a license to
operate the asset on condition that the company will remove the asset
and return the site to its former condition at the end of the asset’s life.

The company has recognised a liability of Rs. 250,000 in respect of the
expected clearance cost.

The cost of the asset is as follows:

Purchase price of the machine (1,000,000 - 50,000) 950,000
Delivery cost 100,000
Installation cost 125,000
Cost of site preparation 200,000
Architect’s fees 15,000
Decommissioning cost 250,000

1,640,000

The definition of ‘cost’ for property, plant and equipment has close similarities
with the cost of inventories, although property, plant and equipment will often
include more items of ‘other expense’ within cost.

For example when a business entity acquires a new building the cost of the
building might include professional fees such as the fees for an architect and
surveyor.

Costs are no longer recognised when the item is ready for use. This is when it is
in the location and condition necessary for it to be capable of operating in the
manner intended by management.
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1.3 Exchange transactions

An asset may be acquired in exchange for another asset. The cost of such an
asset is measured at its fair value unless:

U the exchange transaction lacks commercial substance; or

O  the fair value of neither the asset received nor the asset given up is reliably
measurable.

If the new asset is measured at fair value, the fair value of the asset given up is
used to measure the cost of the asset received unless the fair value of the asset
received is more clearly evident.

If the new asset is not measured at fair value, its cost is measured at the carrying
amount of the asset given in exchange for it. This would be the case when the
exchange lacked commercial substance or when the fair value of either asset
cannot be measured.

Lack of commercial substance

The determination of whether an exchange transaction has commercial
substance depends on the extent to which future cash flows are expected to
change as a result of the transaction. If there is minimal impact on future cash
flows then the exchange lacks commercial substance.

1.4 Subsequent expenditure

Subsequent expenditure relating to non-current assets, after their initial
acquisition, should be capitalised if it meets the criteria for recognising an asset.

In practice, this means that expenditure is capitalised if it:

O  improves the asset (for example, by enhancing its performance or
extending its useful life); or

O  is for areplacement part (provided that the part that it replaces is treated as
an item that has been disposed of).

Repairs and maintenance expenditure is revenue expenditure. It is
recognised as an expense as it is incurred, because no additional future
economic benefits will arise from the expenditure.

A basic rule is that improvements are capitalised but repairs are expensed. You
may have to correct situations when an amount spent has not been treated
correctly. This is covered in section 6 of this chapter.
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1.5

Q

1.6

Components of cost

IAS 16 requires that each part of an asset that has a cost that is significant in
relation to the total cost of the item must be depreciated separately. This means
that the cost of an asset might be split into several different assets and each
depreciated separately.

lllustration: Cost

A company has purchased a new Gulf Stream jet for Rs.5,500 million.

The company has identified the following cost components and useful lives in
respect of this jet.

Rs. million Useful lives

Engines 2,000 3 years

Airframe 1,500 10 years

Fuselage 1,500 20 years

Fittings 500 5years
5,500

Measurement after initial recognition
IAS 16 allows a choice of accounting treatments after initial recognition.

All items of property, plant and equipment in a class can be accounted for using
one of two models:

O  Cost model - Property, plant and equipment is carried at cost less any
accumulated depreciation and any accumulated impairment losses.

O  Revaluation model - Property, plant and equipment is carried at a revalued
amount. This is the fair value at the date of the revaluation less any
subsequent accumulated depreciation and any accumulated impairment
losses.

The above choice must be applied consistently. A business cannot carry one

item of property, plant & equipment at cost and revalue a similar item. However, a
business can use different models for different classes of property, plant &
equipment. For example, companies might use the cost model for plant and
equipment but use the revaluation model for property.

This chapter proceeds to explain the depreciation which is an important
component of both models before continuing to explain the revaluation model in
more detail.
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2 DEPRECIATION AND CARRYING AMOUNT

Section overview

Depreciation

Accounting for depreciation

Reviews of the remaining useful life and expected residual value
Impairment

2.1 Depreclation

A business invests in assets in order to generate profit.

The accruals concept results in the recognition of revenue and the cost of
earning that revenue in the statement of comprehensive income in the same
accounting period.

Depreciation is an expense that matches the cost of a non-current asset to the
benefit earned from its ownership. It is calculated so that a business recognises
the full cost associated with a non-current asset over the entire period that the
asset is used. In effect, the cost of the asset is transferred to the statement of
comprehensive income over the life of the asset. This may be several years.

Depreciation is a method of spreading the cost of a non-current asset over its
expected useful life (economic life), so that an appropriate portion of the cost is
charged in each accounting period.

Definitions (from IAS 16)
o)

& Depreciation: The systematic allocation of the depreciable amount of an asset over
its useful life.

Depreciable amount: The cost of an asset (or its revalued amount, in cases where a
non-current asset is revalued during its life) less its residual value.

Residual value:The expected disposal value of the asset (after deducting disposal
costs) at the end of its expected useful life.

Useful life: The period over which the asset is expected to be used by the business
entity.

Carrying amount: The amount at which an asset is recognised after deducting any
accumulated depreciation and accumulated impairment losses. (Net book value
(NBV) is a term that is often used instead of carrying amount).

Example: Depreciation
Q An item of equipment cost Rs. 300,000 and has a residual value of Rs. 50,000 at
the end of its expected useful life of four years.

Depreciation is a way of allocating the depreciable amount of Rs. 250,000 (= Rs.
300,000 - Rs. 50,000) over the four years of the asset’s expected life.
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Depreciation is charged as an expense in the statement of comprehensive
income each year over the life of the asset unless it relates to an asset being
used to construct another asset or assets. In this case the depreciation is
capitalised as part of the cost of that other assets.

Most property, plant and equipment must be depreciated, although there are
some exceptions to this rule. For example, land is not usually depreciated
because it has an indefinite useful life.

Land and buildings

Separable assets are dealt with separately for accounting purposes, even when
they are acquired together.

U Land - normally has an unlimited life and is therefore not depreciated.

U Buildings — normally have a limited life and are therefore depreciable
assets.

Commencement of depreciation

Depreciation of an asset begins when that asset is available for use. This means
when the asset is in the location and condition necessary for it to be capable of
operating in the manner intended by management.

This might be before the asset is actually used.

Residual value

In practice, the residual value of an asset is often insignificant and therefore
immaterial in the calculation of the depreciable amount.

However, in some cases, the residual value may be equal to or greater than the
asset's carrying amount. In this case the depreciation charge would be zero.
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2.2 Accounting for depreciation

The double entry for depreciation is carried out using two accounts (for each
category of non-current asset).

Debit Credit
Depreciation expense X

lllustration: Depreciation double entry
@

Accumulated depreciation X

The balance on the depreciation expense account is taken to the statement of
comprehensive income as an expense for the period.

The accumulated depreciation account contains all of the depreciation
recognised to date. When the final statement of financial position is prepared it is
deducted from the cost of the assets. The non-current asset figure in the
statement of financial position is made up of two figures, the cost less
accumulated depreciation.

The balance on the accumulated depreciation account is carried forward as a
(credit) balance at the end of the period and appears in the statement of financial
position as a deduction from the cost of the property, plant and equipment. The
figure that appears in the statement of financial position is known as the carrying
amount (or net book value).

Rs.

Non-current asset at cost X

Less accumulated depreciation (X)

This figure appears on the
face of the statement of

Carrying amount (net book value) ~ X financial position

@ lllustration: Carrying amount of a non-current asset
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Accounts in the ledger for property, plant and equipment and accumulated
depreciation

There are separate accounts in the general ledger for each category of property,
plant and equipment (for example, an account for land and buildings, an account
for plant and machinery, an account for office equipment, an account for motor
vehicles, and so on) and the accumulated depreciation for each of these
categories of property, plant and equipment.

This means that each category of property, plant and equipment can be shown
separately in the financial statements.

Example: Accounting for depreciation
A company purchases a hon-current asset in Year 1 for Rs. 90,000.
In Year 1, the depreciation charge is Rs. 15,000.

These transactions should be recorded as follows:

Asset account

Year 1 Rs. Rs.

Cash/creditors 90,000 | Balance c/f 90,000
90,000 90,000

Year 2

Balance b/f 90,000

Accumulated depreciation account

Year 1 Rs. Rs.
Balance c/f 15,000 | Depreciation account 15,000
15,000 15,000

Year 2
Balance b/f 15,000

Depreciation account

Year 1 Rs. Rs.

Accumulated depreciation 15,000 | Statement of 15,000
comprehensive income

15,000 15,000

At the end of Year 1, the carrying amount of the asset in the statement of
financial position is:

Rs.
Non-current asset at cost (or valuation) 90,000
Less: Accumulated depreciation (15,000)
Carrying amount 75,000
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Example continued:
Q The depreciation charge In Year 2 is also Rs. 15,000.

The ledger accounts in Year 2 will be as follows:

Asset account

Year 2 Rs. Rs.

Balance b/f 90,000 | Balance c/f 90,000
90,000 90,000

Year 3

Balance b/f 90,000

Accumulated depreciation account

Year 2 Rs. Rs.
Balance b/f 15,000
Balance c/f 30,000 | Depreciation account 15,000
30,000 30,000

Year 3
Balance b/f 30,000

Depreciation account

Year 2 Rs. Rs.
Accumulated depreciation 15,000 | Statement of 15,000
comprehensive income

At the end of Year 2, the carrying amount of the asset in the statement of
financial position is:

Rs.
Non-current asset at cost (or valuation) 90,000
Less: Accumulated depreciation (30,000)
Carrying amount 60,000

Practice question 1
An item of equipment cost Rs. 40,000 at the beginning of Year 1. It has an

expected life of 5 years.
The annual depreciation charge is Rs. 8,000.

Complete the following ledger accounts for Years 1 and 2 and calculate the
carrying amount of the asset at the end of each period.

a equipment account
b accumulated depreciation of equipment account
¢ depreciation of equipment account
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2.3

O

Reviews of the remaining useful life and expected residual value

Review of useful Life

IAS 16 requires useful lives and residual values to be reviewed at each year-end.
Any change is a change in accounting estimate. The carrying amount (cost minus
accumulated depreciation) of the asset at the date of change is written off over
the (revised) remaining useful life of the asset.

Example:

Chiniot Engineering owns a machine which originally cost Rs. 60,000 on 1
January 2010.

The machine was being depreciated over its useful life of 10 years on a straight-
line basis and has no residual value.

On 31 December 2013 Chiniot Engineering revised the total useful life for the
machine to eight years (down from the previous 10).
Required

Calculate the depreciation charge for 2013 and subsequent years.

Answer

The change in accounting estimate is made at the end of 2013 but may be
applied to the financial statements from 2013 onwards.

Rs.
Cost on 1 January 2010 60,000
Depreciation for 2010 to 2012 (60,000 x 3/10) (18,000)
Carrying amount at end of 2012 42,000

Remaining useful life at the end of 2012 = 8 - 3 years = 5 years.

Depreciation for 2013 and subsequent years = Rs. 42,000 + 5 years = Rs. 8,400.

Residual value

The residual value of an item of property, plant and equipment must be reviewed
at least at each financial year end and if expectations differ from previous
estimates the depreciation rate for the current and future periods is adjusted

A change in the asset’s residual value is accounted for prospectively as an
adjustment to future depreciation.
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Practice question 2
A machine was purchased three years ago on 1 January Year 2. It cost
Rs.150,000 and its expected life was 10 years with an expected residual

value of Rs.30,000.

Due to technological changes, the estimated life of the asset was re-
assessed during Year 5. The total useful life of the asset is now expected to
be 7 years and the machine is now considered to have no residual value.

The financial year of the entity ends on 31 December.
What is the depreciation charge for the year ending 31 December Year 5?

2.4 Impairment
Both the cost model and the revaluation model refer to impairment losses.
IAS 36 Impairment of assets contains detailed guidance on impairment.

Impairment loss: The amount by which the carrying amount of an asset (or a cash-
generating unit) exceeds its recoverable amount.

Definition
o)
&

An impairment loss is a write down in the value of an asset to its recoverable
amount. IAS 36 operates to ensure that assets are carried in the financial
statements at no more than their recoverable amount. (This is very similar to the
rule that requires inventory to be measured at the lower of cost and net realisable
value).

The recoverable amount of an asset is defined as the higher of its:

O  Fair value less costs to sell (the amount that would be received for the
asset in an orderly transaction between market participants less costs of
selling it); and

O  Value in use (the present value of future cash flows from using an asset,
including its eventual disposal).

You will not be asked to compute these figures in the exam but you might be
given the two amounts and be expected to identify the recoverable amount and
account for any impairment loss.

Example: Impairment
Q The following information relates to 3 assets.

Asset 1 Asset 2 Asset 3

Carrying amount 80,000 120,000 140,000
Value in use 150,000 | 105,000 | 107,000
Fair value less cost to sell 60,000 90,000 110,000
Recoverable amount 150,000 105,000 110,000
Impairment loss nil 15,000 30,000
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Approach

Impairment of an asset should be identified and accounted for as follows.

Q

Q

(H

At the end of each reporting period, a business should assess whether
there are any indications that an asset may be impaired.

If there are such indications, the business should estimate the asset’s
recoverable amount.

When the recoverable amount is less than the carrying amount of the
asset, the carrying amount should be written down to this amount. The
amount by which the value of the asset is written down is an impairment
loss.

This impairment loss is recognised as a loss for the period.

Depreciation charges for the impaired asset in future periods should be
adjusted to allocate the asset’s revised carrying amount, minus any
residual value, over its remaining useful life (revised if necessary).

There is no specific guidance on the double entry needed to record impairment.
One way of accounting for it is to set up an accumulated impairment loss account
and account for it just like depreciation.
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3 METHODS OF CALCULATING DEPRECIATION

Section overview

Introduction

Straight-line method

Reducing balance method

Depreciation by the number of units produced
Review of depreciation method

31

3.2
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Introduction

The depreciation method used should reflect the way in which the economic
benefits of the asset are consumed by the business over time.

The main choice is between the straight line method and the reducing balance
method (also known as the diminishing balance method).

The reducing balance method is often chosen for assets such as vehicles which
lose greater amounts of value in their early years. The reducing balance method
reflects this with larger depreciation charges in earlier years.

Straight-line method

Definition: Straight line depreciation

Where the depreciable amount is charged in equal amounts to each reporting
period over the expected useful life of the asset.

Depreciation charge B Cost of asset less expected residual value
for the year Expected useful life (years)

With the straight-line method, the annual depreciation charge is the same for
each full financial year over the life of the asset (unless the asset is subsequently
re-valued during its life).

This is the most common method in practice, and the easiest to calculate.

Example: Straight line depreciation

A machine cost Rs. 250,000. It has an expected economic life of five years and an
expected sale value of Rs. 50,000 at the end of that time.

Annual depreciation is:

250,000 -50,000 Rs. 40,000 per
5 years annum

Depreciation charge
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Example: Straight line depreciation — mid-year acquisition
A machine cost Rs. 250,000. It has an expected economic life of five years.

It is expected that the machine will have a zero scrap value at the end of its useful
life.

The machine was bought on the 1st September and the company has a 31st
December year end.

The depreciation charge in the first year of ownership is:

250,000 4
Depreciation charge = X =
5 years 12

Rs. 16,667

Depreciation as a percentage of cost

Another way of stating straight-line depreciation is to express the annual
depreciation charge as a percentage of the cost of the asset.

Example: Depreciation as a percentage of cost
An asset has an expected life of 10 years and zero residual value.

If straight-line depreciation is used, the annual depreciation charge is 10% of the
cost of the asset.

An asset has an expected life of six years and a residual value equal to 10% of its
cost

If straight-line depreciation is used the annual depreciation charge is 15% of cost
each year ((100% - 10%)/6 years).

Formula: Calculating percentage depreciation
Cost - residual value 1
Cost

Depreciation
percentage

100

Useful life
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Reducing balance method

Definition: Reducing balance method

Where the annual depreciation charge is a fixed percentage of the carrying amount
of the asset at the start of the period.

Formula: Reducing balance depreciation

Depreciation charge _ Carrying amount at

i [v)
for the year the start of the year Fixed %

The annual depreciation charge is highest in Year 1 and lowest in the final year
of the asset’s economic life.

Example: Reducing balance method

A machine cost Rs. 100,000 on the first day of an accounting period. It has an
expected life of five years, and it is to be depreciated by the reducing balance
method at the rate of 30% each year.

Annual depreciation and carrying amount over the life of the asset will be as
follows.

Annual depreciation
Carrying amount charge (at (30% of Carrying amount

Year at start of year the reducing balance) at end of year
Rs. Rs. Rs.
1 100,000 30,000 70,000
2 70,000 21,000 49,000
3 49,000 14,700 34,300
4 34,300 10,290 24,010

Note that the depreciation in any year can be calculated by multiplying
the previous year’s charge by (1 - the reducing balance percentage).

1 100,000 x 30% 30,000
2 30,000 x 70% 21,000
3 21,000 x 70% 14,700
4 14,700 x 70% 10,290

This is a useful short cut but be careful because it only works if the
previous year’s depreciation was for the whole year.
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Example: Reducing balance method
Q A machine cost Rs. 100,000 on 30 September.
The company has a 31 December year end.

It has an expected life of five years, and it is to be depreciated by the reducing
balance method at the rate of 30% each year.

Annual depreciation and carrying amount over the life of the asset will be as

follows.
Carrying Annual Carrying
amount at depreciation amount at

Year start charge end

Rs. Rs. Rs.
1 100,000 x 30% x 3/12 7,500 92,500
2 92,500 x 30% 27,750 64,750
3 64,750 x 30% 19,425 45,325
4 45,325 x 30% 13,598 31,727

Note that the depreciation in the year after the first full year’s depreciation
(year 2) can be calculated by multiplying the previous year’s charge by (1
- the reducing balance percentage).

3 27,750 x 70% 19,425
4 19,425 x 70% 13,598
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Calculating the reducing balance

The reducing balance reduces the cost of an asset down to its expected residual
value over its expected useful life.

The reducing balance percentage can be calculated using the following formula.

,_g + Formula: Calculation of reducing balance percentage

B7T o Residual value 1
= Cost

Where:
x = The reducing balance percentage
n = Expected useful life.

Example: Reducing balance
Q An asset cost Rs. 10,000 and has an expected residual value of Rs. 2,000 at the
end of its expected useful life which is 5 years.

The reducing balance percentage is calculated as follows.

o Residual value 1_5 2,000 1 = 0.275 or 27.5%
x= Cost = [To,000 ~ T e oreson

This percentage reduces Rs.10,000 to Rs. 2,000 over 5 years.

Carrying Annual depreciation Carrying
amount at start charge (at (27.5% amount at end
Year of year reducing balance) of year
Rs. Rs. Rs.

1 10,000 2,750 7,250
2 7,250 1,994 5,256
3 5,256 1,445 3,811
4 3,811 1,048 2,763
5 2,763 763 2,000

Note that the depreciation charge in year 5 contains a rounding
difference of 3.
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Depreciation by number of units produced

Definition

Where depreciation is calculated by expressing the useful life of an asset in terms
of its expected total output and allocating the annual charge to depreciation based
on actual output.

Formula: Depreciation by number of units produced

Depreciation Cost - residual value Number of units

charge Total expected production Produced in period
over the life of the asset

Example: Number of units produced

A machine cost Rs. 500,000.

It is expected to produce 5,000,000 units over its useful life.
47,850 units were made in the first year of production.

The depreciation charge in the first year of ownership is:

_ Rs.500,000

= ———— X = .4,
5000000 47,850 = Rs. 4,785

Review of depreciation method

The depreciation method applied to property, plant and equipment must be
reviewed periodically and, if there has been a significant change in the expected
pattern of economic benefits from those assets, the method is changed to reflect
the changed pattern.

Where there is a change in the depreciation method used, this is a change in
accounting estimate. A change of accounting estimate is applied from the time of
the change, and is not applied retrospectively. The carrying amount (cost minus
accumulated depreciation) of the asset at the date of the change is written off
over the remaining useful life of the asset.

Example:

Marden Fabrics owns a machine which originally cost Rs. 30,000 on 1 January
2010. It has no residual value.

It was being depreciated over its useful life of 10 years on a straight-line basis.

At the end of 2013, when preparing the financial statements for 2013, Marden
Fabrics decided to change the method of depreciation, from straight-line to the
reducing balance method, using a rate of 25%.

Required

Calculate the depreciation charge for 2013.
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A Answer
The change in accounting estimate is made at the end of 2013, but is applied to
the financial statements from 1 January 2013. The reducing balance method of
depreciation is applied to the 2013 statements.

Rs.
Cost on 1 January 2010 30,000
Depreciation for 2010 to 2012 (30,000 x 3/10) (9,000)
Carrying amount at end of 2012 21,000

Depreciation for 2013 will therefore be Rs. 21,000 x 25% = Rs. 5,250.

Practice questions 3
1 Anitem of equipment cost Rs. 1,260,000. It has an expected useful life

of six years and an expected residual value of Rs. 240,000. Using the
straight-line method of depreciation:

What is the annual depreciation charge?
What will be the carrying amount of the asset after four years?

2 The financial year of a company is 1st January to 31st December. A
non-current asset was purchased on 1st May for Rs. 60,000. Its
expected useful life is five years and its expected residual value is zero.
It is depreciated by the straight-line method.

What will be the charge for depreciation in the year of acquisition if a
proportion of a full year’s depreciation is charged, according to the
period for which the asset has been held?

3 A non-current asset cost Rs. 64,000. It is depreciated by the reducing
balance method, at the rate of 25% each year.

What is the annual depreciation charge in Year 1, Year 2 and Year 3?

4 An office property cost Rs. 5 million, of which the land value is Rs. 2
million and the cost of the building is Rs. 3 million. The building has an
estimated life of 50 years.

What is the annual depreciation charge on the property, using the
straight-line method?
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4 REVALUATION OF PROPERTY, PLANT AND EQUIPMENT

Section overview

Revaluation and the entity’s accounting policy
Accounting for revaluation

Changing the carrying amount of a revalued asset
Depreciation of a re-valued asset

Realisation of the revaluation surplus

Revaluation model: the frequency of revaluations

4.1 Revaluation and the entity’s accounting policy

Property, plant and equipment is recognised at cost when it is first acquired.

IAS 16allows a business to choose one of two measurement models for its
property, plant and equipment after acquisition. The same model should be
applied to all assets in the same class.

The two measurement models for property, plant and equipment after acquisition
are:

O the cost model (i.e. cost less accumulated depreciation)

O  therevaluation model (i.e. revalued amount less accumulated
depreciation since the most recent revaluation).

For example, a company’s policy might be to value all its motor vehicles at cost,
but to apply the revaluation model to all its land and buildings.

Revaluation model — Issues

The following accounting issues have to be addressed when using the
revaluation model:

O  What happens to the other side of the entry when the carrying amount of an
asset is changed as a result of a revaluation adjustment? An asset value
may increase or decrease. What happens in each case?

O  How is the carrying amount of the asset being revalued changed?. The
carrying amount is located in two accounts (cost and accumulated
depreciation) and it is the net amount that must be changed so how is this
done?

U  How often should the revaluation take place?
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4.2 Accounting for revaluation

When a non-current asset is re-valued, its ‘carrying amount’ in the statement of
financial position is adjusted from carrying amount to its fair value (normally
current market value) at the date of the revaluation.

How the carrying amount is changed will be addressed later. This section
concentrates on the other side of the entry.

Straightforward cases

Suppose an asset is carried at cost is to be revalued for the first time.

U  Anincrease in value is credited to other comprehensive income. Such
amounts are then accumulated in equity under the heading of revaluation
surplus.

O A decrease in value is debited as an expense to the statement of
comprehensive income.

Example: Upward revaluation
Q Land was purchased for 100 on the first day of the 2013 accounting period.
The business applies the IAS 16 revaluation model to the measurement of land
after initial recognition.

The land was revalued to 130 at the end of the first year of ownership.

Other statement
compreh of
ensive comprehens
Land income ive income
At start 100 - -
Adjustment 30 30 Cr The surplus is taken
to other
comprehensive
31/12/13 130 30Cr income
Double entry:
Debit Credit
Land 30
Revaluation surplus 30

Extract from the statement of financial position as at 31/12/13
ASSETS
Non-current assets
Property, plant and equipment 130

EQUITY AND LIABILITIES
Revaluation surplus 30
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Example: Downward revaluation
Q Land was purchased for 100 on the first day of the 2013 accounting period.
The business applies the IAS 16 revaluation model to the measurement of land
after initial recognition.
The land was revalued to 90 at the end of the first year of ownership.
Other statement
compreh of
ensive comprehens
Land income ive income
At start 100 — —
Adjustment (10) 10Dr
31/12/13 920
Double entry:
Debit Credit
Statement of comprehensive income 10
Land 10
Complication

An asset might be carried at an amount lower than its original cost as a result of
being revalued downwards. If the asset is later revalued upwards, the revaluation
increase is recognised in the statement of comprehensive income to the extent of
the previously recognised expense. That part of any increase above the
previously recognised expense is recognised in other comprehensive income in
the usual way.

Similarly, an asset might be carried at an amount higher than its original cost as a
result of being revalued upwards. If the asset is later revalued downwards, the
revaluation decrease is recognised in other comprehensive income to the extent
of the previously recognised surplus. That part of any decrease above the
previously recognised surplus is recognised in the statement of comprehensive
income the usual way.
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Example: Downward revaluation
Q A business purchased a plot of land on the first day of the 2013 accounting period.
The business applies the IAS 16 revaluation model to the measurement of land
after initial recognition. The business has a policy of revaluing land annually.

The initial amount recognised and the year end values are shown below:

Rs.
Measurement on initial recognition 100
Valuation as at:
31 December 2013 130
31 December 2014 110
31 December 2015 95
31 December 2016 116
The double entries are as follows
As at 31 December 2013 Debit Credit
Land (130 - 100) 30
Other comprehensive income 30
As at 31 December 2014 Debit Credit
Other comprehensive income 20
Land (110 - 130) 20

The fall in value reverses a previously recognised surplus. It is recognised in
OCI to the extent that it is covered by the surplus.

As at 31 December 2015 Debit Credit
Other comprehensive income 10

Statement of comprehensive income 5

Land (95 - 110) 15

The fall in value in part reverses a previously recognised surplus. It is
recognised in OCI to the extent that it is covered by the surplus. This
reduces the revaluation surplus to zero.

Any amount not covered by the surplus is recognised as an expense in the
statement of comprehensive income.

As at 31 December 2016 Debit Credit
Land (116 - 95) 21

Statement of comprehensive income 5
Other comprehensive income 16

A rise in value that reverses a previously recognised expense is recognised
in the statement of comprehensive income to the extent that it reverses the
expense. Any amount above this is recognised in other comprehensive
income.
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Example (continued) - Overview
Q Other
compreh Statement of
ensive comprehensive
Land income income
At start 100 — —
Double entry 30 30 Cr
31/12/13 130
b/f 130
Adjustment (20) 20Dr -
31/12/14 110
b/f 110
Adjustment (15) 10Dr 5Dr
31/12/15 95
b/f 95
Adjustment 21 16Cr 5Cr
31/12/16 116

4.3 Changing the carrying amount of the asset.

In the previous example land was revalued. Land is not depreciated so the
carrying amount of land is represented in a single account. This made it easy to
change:

The carrying amount of depreciable assets is the net of balances on two separate
accounts. The double entry to revalue the asset must take this into account.

A simple approach (and one that accords with IAS 16) is as follows:

U Step 1: Transfer the accumulated depreciation to the asset account. The
result of this is that the balance on the asset account is now the carrying
amount of the asset and the accumulated depreciation account in respect
of this asset is zero.

U Step 2: Change the balance on the asset account to the revalued amount.
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Example:
Q A building owned by a company is carried at Rs.8,900,000 (Cost of Rs, 9m less
accumulated depreciation of Rs.100,000. The company’s policy is to apply the
revaluation model to all its land and buildings.

A current valuation of this building is now Rs.9.6 million.

Step 1 Rs. (000) Rs. (000)
Accumulated depreciation 100

Asset 100
Step 2

Asset (Rs.9.6 - Rs.8.9m) 700

Other comprehensive income 700

Alternatively this could be done with a single

journal

Asset (Rs.9.6 - Rs.9m) 600
Accumulated depreciation 100

Other comprehensive income 700

Example:
Q An office building was purchased four years ago for Rs.3 million.
The building has been depreciated by Rs.100,000.

It is now re-valued to Rs.4 million. Show the book-keeping entries to record the

revaluation.
Answer
A
= Building account
Rs. Rs.
Opening balance b/f 3,000,000 | Accumulated 100,000
depreciation
Revaluation account 1,100,000 | Closing balance c/f 4,000,000
4,100,000 4,100,000
Opening balance b/f 4,000,000
Accumulated depreciation of building account
Rs. Rs.
Building account 100,000 | Opening balance b/f 100,000
Revaluation surplus
Rs. Rs.
Revaluation account 1,100,000
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Practice question 4

A company owns a building which was purchased three years ago for Rs.1
million. The building has been depreciated by Rs.60,000.

It is now to be re-valued to Rs.2 million. Show the book-keeping entries to
record the revaluation.

Depreciation of a re-valued asset

After a non-current asset has been re-valued, depreciation charges are based on
the new valuation.

Example:

An asset was purchased three years ago, at the beginning of Year 1, for
Rs.100,000.

Its expected useful life was six years and its expected residual value was
Rs.10,000.

It has now been re-valued to Rs.120,000. Its remaining useful life is now estimated
to be three years and its estimated residual value is now Rs.15,000.

The straight-line method of depreciation is used.

Required

(@) What is the transfer to the revaluation surplus at the end of Year 3?
(b) What is the annual depreciation charge in Year 4?

(c) What is the carrying amount of the asset at the end of Year 4?

Answer

Annual depreciation originally (for Years 1 - 3)
= Rs.(100,000 - 10,000)/6 years = Rs.15,000.

Rs.

Cost 100,000
Less: Accumulated depreciation at the time

of revaluation (= 3 years x Rs.15,000) (45,000)
Carrying amount at the time of the 55,000
revaluation

Re-valued amount of the asset 120,000
Transfer to the revaluation surplus 65,000

Revised annual depreciation = Rs.(120,000 - 15,000)/3 years = Rs.35,000.

The annual depreciation charge in Year 4 will therefore be Rs.35,000.

Rs.
Re-valued amount 120,000
Less: depreciation charge in Year 4 (35,000)
Carrying amount at the end of Year 4 85,000
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4.5 Realisation of the revaluation surplus

All assets eventually disappear from the statement of financial position either by
becoming fully depreciated or because the company sells them.

If nothing were done this would mean that there was a revaluation surplus on the
face of the statement of financial position that related to an asset that was no
longer owned. IAS 16 allows (but does not require) the transfer of a revaluation
surplus to retained earnings when the asset to which it relates is derecognised
(realised).

This might happen over several years as the asset is depreciated or at a point in
time when the asset is sold.
Revalued assets being depreciated

Revaluation of an asset causes an increase in the annual depreciation charge.
The difference is known as excess depreciation:

Excess depreciation is the difference between:
U the depreciation charge on the re-valued amount of the asset, and
O  depreciation that would have been charged on historical cost.

Each year a business might make a transfer from the revaluation surplus to the
retained profits equal to the amount of the excess depreciation.

@ lllustration:
& Debit  Credit

Revaluation surplus X
Retained earnings X

Revalued assets being sold

When a revalued asset is sold the business might transfer the balance on the
revaluation surplus in respect of the asset into retained earnings. The journal
entry would be the same as above.
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4.6

Example:

An asset was purchased two years ago at the beginning of Year 1 for Rs.600,000.
It had an expected life of 10 years and nil residual value.

Annual depreciation is Rs.60,000 (= Rs.600,000/10 years) in the first two years.
At the end of Year 2 the carrying value of the asset -Rs.480,000.
After two years it is re-valued to Rs.640,000.

Double entry: Revaluation

Debit Credit
Asset (Rs.640,000 - Rs.600,000) 40
Accumulated depreciation 120
Other comprehensive income 160

Each year the business is allowed to make a transfer between the revaluation
surplus and retained profits:
Double entry: Transfer
Debit Credit
Revaluation surplus (169/s) 20
Retained profits 20

Revaluation model: the frequency of revaluations

When the revaluation model is applied to the measurement of property, plant and
equipment, the frequency of revaluations should depend on the volatility in the
value of the assets concerned. When the value of assets is subject to significant
changes (high volatility), annual revaluations may be necessary.
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5 DERECOGNITION OF PROPERTY, PLANT AND EQUIPMENT

Section overview

m  Gain or loss on disposal of a non-current asset
m  Accounting for the disposal of property, plant and equipment
m Disposal of property, plant and equipment: part-exchange of an old asset

5.1 Galin or loss on disposal of a hon-current asset

Property, plant and equipment are eventually disposed of:
Q by sale, or
O  if they have no sale value, through disposal as scrap.

Disposal can occur at any time, and need not be at the end of the asset’s
expected useful life.

The effect of a disposal on the statement of financial position (or accounting
equation) is that:

O  the asset (at cost or valuation) is no longer in the statement of financial
position, and

U the accumulated depreciation on the asset is also no longer in the
statement of financial position.

The carrying amount of the asset is therefore removed from the accounting
equation.

There is a gain or loss on disposal of the asset, as follows:

lllustration: Gain or loss on disposal

Rs.
Sale proceeds on disposal X
Less Disposal costs (X)
Net disposal value X
Asset at cost X
Less: Accumulated depreciation X)
Carrying amount at date of disposal X)
Gain /loss on disposal X
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Example:
Q A non-current asset originally cost Rs.75,000. Accumulated depreciation is
Rs.51,000.

The asset is nhow sold for Rs.18,000. Disposal costs are Rs.500.

What is the gain or loss on disposal?

A Answer
Gain or loss on disposal Rs. Rs.

Sale proceeds on disposal 18,000
Less Disposal costs (500)
Net disposal value 17,500
Asset at cost 75,000

Less: Accumulated depreciation (51,000)

Carrying amount at date of disposal (24,000)
Loss on disposal (6,500)

Practice question 5
A non-current asset cost Rs.96,000 and was purchased on 1 June Year 1.

Its expected useful life was five years and its expected residual value was
Rs.16,000. The asset is depreciated by the straight-line method.

The asset was sold on 1 September Year 3 for Rs.68,000. There were no
disposal costs.

It is the company policy to charge depreciation on a monthly basis.
The financial year runs from 1 January to 31 December.
What was the gain or loss on disposal?

Practice question 6
A non-current asset was purchased on 1 June Year 1 for Rs.216,000. Its

expected life was 8 years and its expected residual value was Rs.24,000.
The asset is depreciated by the straight-line method. The financial year is
from 1 January to 31 December.

The asset was sold on 1 September Year 4 for Rs.163,000. Disposal costs
were Rs.1,000.

It is the company policy to charge a proportionate amount of depreciation
in the year of acquisition and in the year of disposal, in accordance with the
number of months for which the asset was held.

What was the gain or loss on disposal?
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5.2 Accounting for the disposal of property, plant and equipment

In the general ledger the gain or loss on disposal of a non-current asset is
recorded in a disposal of asset account. The double entry transactions required
are as follows — for an asset recorded at cost rather than at a re-valued amount.

Step 1: Transfer the cost of the non-current asset from the asset account to the
disposal account:

Step 2: Transfer the accumulated depreciation on the asset from the
accumulated depreciation account to the disposal account:

@ lllustration:
& Debit  Credit

Disposal account X
Non-current asset account (cost of the asset) X
Accumulated depreciation account (or Allowance

for depreciation account) X

Disposal account X

The carrying amount of the asset is now in the disposal account.
Step 3: Record the disposal costs in the disposal account.

@ lllustration:
& Debit  Credit

Disposal account (disposal expenses) X

Bank or Payables account X

Step 4: Record the sale proceeds in the disposal account:

@ lllustration:
b Debit  Credit

Bank or Receivables account X
Disposal account (sale proceeds) X

Step 5: The balance on the disposal account is the gain or loss on disposal. This
is transferred to the statement of comprehensive income.
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Example:

A non-current asset cost Rs.82,000 when purchased. It was sold for Rs.53,000
when the accumulated depreciation was Rs.42,000. Disposal costs were Rs.2,000.

Required

Show the book-keeping entries to record the disposal.

Answer

Disposal of asset account

Rs. Rs.
Non-current asset account 82,000 | Accumulated depreciation 42,000
account
Disposal expenses (Bank) 2,000 | Sales value (Receivables) 53,000
Gain on disposal 11,000
(statement of
comprehensive income)
95,000 95,000
Non-current asset account
Rs. Rs.
Opening balance 82,000 | Disposal account 82,000
Accumulated depreciation account
Rs. Rs.
Disposal account 42,000 | Opening balance 42,000
Receivables account
Rs. Rs.
Disposal account
(sale value of disposal) 53,000
Bank account
Rs. Rs.
Disposal account
(disposal expenses) 2,000
Statement of comprehensive income
Rs. Rs.
Disposal account
(gain on disposal) 11,000
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Non-current asset accounts in the general ledger are usually maintained for a
category of assets rather than for individual assets. This means that when a non-
current asset is disposed of, there will be a closing balance to carry forward on
the asset account and the accumulated depreciation account.

Example:

In the previous example, suppose that the balance on the non-current asset
account before the disposal was Rs.500,000 and the balance of the accumulated
depreciation account was Rs.180,000.

The accounting entries would be as follows:

Property, plant and equipment account

Rs. Rs.

Opening balance b/f 500,000 | Disposal account 82,000

Closing balance c/f 418,000

500,000 500,000
Opening balance b/f 418,000

Accumulated depreciation account

Rs. Rs.

Disposal account 42,000 | Opening balance b/f 180,000
Closing balance c/f 138,000

180,000 180,000

Opening balance b/f 138,000

Practice question 7

A motor vehicle cost Rs.80,000 two years ago. It has been depreciated by
the reducing balance method at 25% each year. It has now been disposed
of for Rs.41,000. Disposal costs were Rs.200.

The balance on the motor vehicles account before the disposal was
Rs.720,000 and the balance on the accumulated depreciation of motor
vehicles account was Rs.250,000.

Show the book-keeping entries to record the disposal.
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5.3 Disposal of property, plant and equipment: part-exchange of an old asset

Sometimes, a supplier will agree to take an old asset in part-exchange for the
sale of a new asset. The customer is said to receive a trade-in allowance on his
old asset.

This practice is quite common, for example, with motor vehicles. A business
entity may buy a new motor vehicle from a car dealer, and the car dealer will take
an old motor vehicle in part-exchange for the new one.

Example: Trade-in allowance
Q Entity X has several motor cars that are accounted for as property, plant and
equipment.

On 2 January Year 5, Entity X bought a new car.
The new car had a cash price of Rs.50,000.

Instead of taking Rs. 50,000, the car dealer agreed to accept a car owned by Entity
X in part-exchange plus a cash price of Rs. 46,000 in full payment for the new car.

Entity X has traded in the previously owned car for an allowance of Rs. 4,000.

In effect, Entity X has sold the previously owned car for Rs. 4,000.

Accounting for the purchase of the new asset

As explained in section 1.3 of this chapter when an asset is acquired in exchange
for another asset (or in exchange for another asset plus cash) the cost of the new
asset is measured at its fair value unless:

U the exchange transaction lacks commercial substance; or

O  the fair value of neither the asset received nor the asset given up is reliably
measurable.

If the new asset is measured at fair value, the fair value of the asset given up is
used to measure the cost of the asset received unless the fair value of the asset
received is more clearly evident.

In the case of transactions involving a trade in allowance, the fair value of the
asset being given up is measured as the value of the allowance (price reduction
received).

Example: Cost of hew asset
Q Entity X bought a new car with a cash price of Rs.50,000 but paid for it with Rs.
46,000 cash plus another car which it had owned for some time.

The cost of the new car received is as follows:

Rs.
Cash paid 46,000
Trade-in allowance on previously owned car 4,000
Cost of new car 50,000
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Accounting for the sale of the previously owned asset

Disposals of assets in part-exchange for a new asset are accounted for in much
the same way as disposals of property, plant and equipment for cash. The only
difference is that:

U The disposal value of the old asset is the amount that the seller of the new
asset allows in part-exchange for the new asset.

O  The cost of the new asset is the full purchase price, but the double entry is
partly to bank/payables (for the cash payment) and partly to the disposal
account for the old asset (for the part-exchange value).

Example:
Q Entity X has several motor cars that are accounted for as property, plant and
equipment.

As at 1 January Year 5, the cost of the entity’s cars was Rs.200,000 and the
accumulated depreciation was Rs.80,000.

On 2 January Year 5, Entity X bought a new car costing Rs.50,000.

The car dealer accepted a car owned by Entity X in part-exchange, and the part-
exchange value of this old car was Rs.4,000.

This car originally cost Rs.30,000 and its accumulated depreciation is Rs.25,000.

Required
(@) Calculate the gain or loss on disposal of the old car

(b) Show how the purchase of the new car and the disposal of the old car will be
recorded in the ledger accounts of Entity X.

A Answer
=] (@)

Rs. Rs.
Sale proceeds on disposal (part-exchange 4,000
value)
Less Disposal costs 0
Net disposal value 4,000
Asset at cost 30,000
Less: Accumulated depreciation (25,000)
Carrying amount at date of disposal (5,000)
Loss on disposal (1,000)
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=
(b)
Disposal of asset account
Rs. Rs.
Motor vehicles account 30,000 | Accumulated 25,000

depreciation account
Motor vehicles

account
(Trade-in value) 4,000
Loss on disposal 1,000

(statement of
comprehensive
income)
30,000 30,000

Motor vehicles account

1 January Rs. Rs.
Opening balance 200,000 | Disposal account 30,000
Cost of new car:
Bank (50,000 - 4,000) 46,000
Disposal of asset Closing balance 220,000
account 4,000
50,000

250,000 250,000
2 January
Opening balance 220,000

Accumulated depreciation account

1 January Rs. Rs.
Disposal account 25,000 | Opening balance 80,000
Closing balance 55,000
80,000 80,000
2 January
Opening balance 55,000
Bank account
Rs. Rs.
Motor vehicles 46,000
account
(Cash paid for new
car)

Statement of comprehensive income

Rs. Rs.

Disposal account 1,000
(Loss on disposal)
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Practice question 8
A company has several motor cars that are accounted for as non-current

assets. As at 1 January Year 2, the cost of the cars was Rs.120,000 and the
accumulated depreciation was Rs.64,000.

During January the company bought a new car costing Rs.31,000 and was
given a part-exchange allowance against an old car of Rs.8,000. The car
being part exchanged originally cost Rs.28,000 and its accumulated
depreciation is Rs.18,000.

Required
(@) Calculate the gain or loss on disposal of the old car

(b) Show how the purchase of the new car and the disposal of the old car
will be recorded in the ledger accounts.
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6 DISCLOSURE REQUIREMENTS OF IAS 16

Section overview

m Disclosure requirements of IAS 16

6.1 Disclosure requirements of IAS 16

IAS 16 Property, plant and equipment requires the following disclosures in the
notes to the financial statements, for each major class of property, plant and
equipment.

U  The measurement bases used (cost or revaluation model)
O  The depreciation methods used

O  The useful lives or depreciation rates used

Qa

Gross carrying amounts and the accumulated depreciation at the beginning
and at the end of the period

(M

A reconciliation between the opening and closing values for gross carrying
amounts and accumulated depreciation, showing:

. Additions during the year

. Disposals during the year

. Depreciation charge for the year

. Assets classified as held for sale in accordance with IFRS 5
. Acquisitions of assets through business combinations

. Impairment losses

. The effect of revaluations.

The following is an example of how a simple table for tangible non-current assets
may be presented in a note to the financial statements.

An entity must also disclose:

O  the existence and amounts of restrictions on title, and property, plant and
equipment pledged as security for liabilities;

U the amount of expenditures recognised in the carrying amount of an item of
property, plant and equipment in the course of its construction;

U  the amount of contractual commitments for the acquisition of property, plant
and equipment; and
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@ lllustration:

Plant and

Property equipment Total
Cost Rs. m Rs. m Rs. m
At the start of the year 7,200 2,100 9,300
Additions 920 340 1,260
Disposals (260) (170) (430)
At the end of the year 7,860 2,270 10,130
Accumulated depreciation
At the start of the year 800 1,100 1,900
Depreciation expense 120 250 370
Accumulated depreciation on
disposals (55) (130) (185)
At the end of the year 865 1,220 2,085
Carrying amount
At the start of the year 6,400 1,000 7,400
At the end of the year 6,995 1,050 8,045

Disclosures for assets stated at revalued amounts

When items of property, plant and equipment are stated at revalued amounts the
following must be disclosed:

Q
Q
Q

Q

the effective date of the revaluation;
whether an independent valuer was involved,;

for each revalued class of property, plant and equipment, the carrying
amount that would have been recognised had the assets been carried
under the cost model; and

the revaluation surplus, indicating the change for the period and any
restrictions on the distribution of the balance to shareholders.

Additional disclosures encouraged by IAS 16

IAS 16 encourages disclosure of the following information as users of financial
statements might find it to be useful.

Q
Q

the carrying amount of temporarily idle property, plant and equipment;

the gross carrying amount of any fully depreciated property, plant and
equipment that is still in use;

the carrying amount of property, plant and equipment retired from active
use and held for disposal; and

when the cost model is used, the fair value of property, plant and
equipment when this is materially different from the carrying amount.
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7 QUESTION PROBLEMS

Section overview

m  Multiple assets
m  Working backwards
m Correcting errors

7.1 Multiple assets

Exam questions on property, plant and equipment usually involve multiple assets
with the need to keep track of additions and disposals in a period.

In any one year the charge for depreciation will be made up as follows:

@ lllustration: Make-up of depreciation charge

Rs.
Depreciation of assets held for the whole year (these are
assets held at the start less disposals) X
Depreciation of assets sold in the year (up to the date of sale) X
Depreciation of assets bought in year (from the date of
purchase) X
Depreciation charge for the year X

It is often useful to construct a working to calculate the depreciation charge for
different components of the asset base.
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Example: Depreciation of several assets (straight line)
Q A business has entered into the following transactions involving plant and
equipment over the last three years.

1 January 2011 Bought several items of plant and equipment for
Rs. 800,000.

30 June 2012 Bought several items of plant and equipment for
Rs. 500,000.

28 February 2013 Bought several items of plant and equipment for
Rs. 240,000.

31 March 2013 Sold some of the items which it had purchased on
1 January 2011. These items had cost Rs.
300,000.

The company depreciates assets on a straight line basis at 10% per

annum.

The depreciation in 2011, 2012 and 2013 can be calculated as follows:
Depreciation:
2011 2012 2013
2011 purchase (Rs. 800,000)
800,000 x 10% (2011 and 2012) 80,000 80,000
In 20413 this must be split:

Assets retained:

500,000 x 10% 50,000

Assets sold:

300,000 x 10% x 3/12 7,500
57,500

2012 purchase (Rs. 500,000)
500,000 x 10% x 6/1> 25,000
500,000 x 10% 50,000

2013 purchase (Rs. 200,000)
240,000 x 10% x 10/45 20,000
Depreciation charge 80,000 105,000 127,500

Depreciation on the assets sold:
300,000 x 10% x 2.25 (2 + 3/12) = Rs. 67,500

Examples are always more complicated when depreciation is calculated using
the reducing balance method.
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Q Example: Depreciation of several assets (reducing balance)

1 January 2011
30 June 2012
28 February 2013

31 March 2013

800,000 x 20%

Depreciation charge

A business has entered into the following transactions involving plant and
equipment over the last three years.

Bought several items of plant and equipment for
Rs. 800,000.

Bought several items of plant and equipment for
Rs. 500,000.

Bought several items of plant and eq